Installation Manual

for TOroldal 90 multi—-beam satelliite antenna

AN
wave FR@NTIER

It is developed by toroidal formula while other existing
existing satellite antennas apply parabolic formula.

Signals reflected twice through the main reflector

and sub reflector form a focal line created

by focal points along the bottom of the main reflector
and it makes TOROIDAL function as a multi-beam antenna.
It is able to replace several single—-beam antennas
because it receives couples of broadcast & communication
satellites at the same time.

It is applicable world—wide.




1.Antenna Gain Graph 2.Specifications
405 T2.5]CHE Model TOROIDALS0
11.7] GHz Main Reflector H?‘ght 96.7 cm
395 — rﬁ 5 GH7\ N Width 108.6 cm
/ RS N -
39 Sub Reflector H?‘ght 961 em
7 N Width 83.6 ¢cm
38.5 7 N\ Recepition Frequency 10.70 ~ 12.75 GHz
38 Antenna Gain (at 12.5 GHz) | 40.10dB (ot O deg, Azimuth)
375 39.20dB (at 20deg, Azimuth)
. Azimuth (at Tilt O deg) + 25 deq (Total 50 deg)
S LNB Installation 1~ 14 EA
< Efficiency 65% ~ 80%
© Polarization Linear & Circular
—30=25=20~15-10-5 O 5 1015 20 25 30° | Material Galvanized Steel

Azimuth(*)

* Figures accquired through repeated field tests.

3.Hardware Sorter

Finish Coating

Polyester powder coating

Operating Temperature -30C / +60°C
Relative Humidity 0% ~ 90%
Damage Winds 60 m/sec
Operating Winds 45 m/sec
Acceptable Pole Diameter | 60 mm

No.\ ITEM (DESCRIPTION) No.\ ITEM (DESCRIPTION)

No,\ ITEM (DESCRIPTION)

NO.‘ ITEM (DESCRIPTION) |NO.

[TEM (DESCRIPTION)

Main Reflector Sub Reflector

Support Arm

LNBF Guide B1

MB+12 CROSS-HEAD CAP SCREW

1EA

B2
B3
B4

® 2 45

MB+35 CROSS-HEAD CAP SCREW

® (zzz 4EA

M6+35 HEX-HEAD CAP SCREW

® Hrzzzn

M6+37 CROSS-HEAD CAP SCREW

® (>

M5+15 CROSS-HEAD CAP SCREW

AB5 ® (>

Back Mount Elevation

LNBF Guide Seat 86

M5¢15 PAN-HEAD CAP SCREW

15EA
B7
M =
B8
M8«80 HEX-HEAD CAP SCREW
B9
® Bz,
6+20 SQUARE. SCREW
2E

® (fz

MB+20 SQUARE SCREW

®azzm 2EA

B8¢20 HEX-HEAD CAP SCREW

® Bz

2B O Qe

Support Arm Cap  |g14

MB+12 SQUARE SCREW

SEA

O (Jzzzz

M6 HEX-HEAD NUT

2EA
é % Bi2|
@ 14EA
4EA 3 M8 HEX-HEAD NUT

Enduring Tube @ BEA

\ 1EA B15

@8 PLATE WASHER

©

2EA

@8 SPRING WASHER

0

2EA

4 How to aim TOROIDAL

— [ MOUNTING LOCATION

ELEVATION

QE THAN

AZIMUTH

(D Decide where to mount TOROIDAL.

(2 In order to determine if you have o clear
line—of—sight to the satellites,
you will need the azimuth and elevation angles.

— W AZIMUTH ANGLE SETTING —

for satellites

(@ Find out the azimuth angle of the central satelite
among the satellites you wish to receive.

(2) Put TOROIDAL toward the azimuth angle
found in (1) with a compass.

— [2] ELEVATION ANGLE SETTING

/”_-.5\\
/7 AN
S0 25 30 35\\\\\
i 11

EDGE ELEVATION

ELEVATION /
\ INDICATOR BOLT

(@ Find out the elevation angle of the central satellite
among the satellites you wish to receive.

(2 Shift TOROIDAL up or down to meet the elevation
angle found in () looking at the elevation angle
indicator on the back mount.

7 B TILTING

85= ]
\ =
\ 80> /l
\ B
1%
N ~ JRe

’
/,

e

(@ Measure the tilt angle of the satellites.
(@ Turn TOROIDAL to meet the tilt figure.




5. Assembly Diagram

TOROIDAL  completely assembled (Fig.1)

TOROIDAL  completely assembled (Fig.2)




—Installing Method

e I IS

<< Elevation >>

Receivable satellites by 55cm (T55) : O
MAIAMI (25N, 80W) Receivable satellites by 90cm (T90) : O @
S
)
>
® L AN 4 { ]
o ol ol M ® a =
un N & % ® =)
| &) - 7}
5| @ Te!
o V) i o )
D 7 2! 2! ol
k| |
= — o i ¥d
| | =] a
7 | = 0 I
P | @) =
L} M
! EN o N
| @ \N"4 =i
N Fa%:
— )=
c i ‘;
= (= ® o
Q N i
0l
= 4 14
e
< =q
)
O
i
)
125 130 135 140 145 150 155 160 165 170 175 180 185 90 195 200 205 210 215 220 225 230 235 240 245 250 255 . 260 265
<< Azimuth >>
< EXAMPLE > S
The above graph is an example of the available receiving satellites theoretically with T55 (TOROIDAL—55) TILT ANGLE | REVISE AZIMUTH 5 - ©
or 190 (TOROIDAL=90) in MAIAMI (25N, 80W). Refer to it when installing in your area. 140 10 o % ; E o -
1. Select one between TOROIDALSS and TOROIDAL90, and then pick up a transparent scale 135 49 = Z) 5 w
according to your choice. (SCALE BY T55 — AZIMUTH 60°, SCALE BY T90 — AZIMUTH 507) 130 +8 Ny 9 w )
2. Put the transparent scale on the graph and make sure the satellites you wish to receive 125 +7 A © z Z @
must be within the range of the scale. And then decide the satellites to receive. [} o |2
o ) 120 +6 c o
3. Follow the description below to install TOROIDAL. 5 - O 4 (%) =
@ Azimuth angle setting : The zero point on the scale meets to the central satellite. o . g o
Look at the zero point satellite and find out the azimuth angle of it. s G>.J <
Fix TOROIDAL toward the azimuth angle with a compass. 105 3 o 3 w
@ Elevation angle setting : Find out the elevation angle that meets to the zero point on the scale. 100 +2 ©
Aim TOROIDAL for the elevation angle by shifting TOROIDAL up or down. 95 +1 \Y%
@ Tilting : Tilt TOROIDAL according to the angle that the level surface and the scale make. 980 0 Vv 3 /
4. Install LNBs on the LNB guide by taking advantage of the figures on the scale. 85 -1 135 140 145 150 155 160 165 170 175 180
] ) ) ) a0 5 - - << Azimuth >
5. The table at the right shows the value of azimuth angle revised caused by tilt angle. — Selected satellites location
75 -3 Back of TOROIDAL and LNBs position ———— L
* CAUTION : 70 -4 with LNBs mitcl\\gd/ (D DIRECTV 1R/2/3, GE4 AT CENTER,\\ PRI \\
@ Azimuth angle must be revised refering to the table at the right when it is tilted. 65 -5 — @TELSTAR 5 // AZIMUTH @ 155\ // : TLT1S N\
(@ Satellites location in the orbital slot and LNBs position on TOROIDAL is symmetrical. 60 -6 @TELSTAR 6 I ANGEL \' | ANCEL \
@ In case of circular po\oriz@ﬁon, the plastic pur? to convert signals in the feed horn 55 I N 1 R NN | | 72 S G @ GALAXY 11 \ _AFTER TLTING- h \ ANGEL GAUGEmE."'
must be rotated 90". (It is because TOROIDAL is dual reflector type.) 50 8 @ OF 3 REVISED / \ /
AZMUTH : 158 \ 7
45 -9 ®GE 5 N N
40 -10 @ sBs 6




<< Elevation >>

<< Elevation s

—Installing Method

Receivable satellites by b5cm (155) : O
SAN DIEGO (33N, 117W) g Receivable satellites by 90cm (190) : O @
6 =
WV
=
5 L SHERE
B bl lad PARF
1O & 2
5 R - O ® PY
M [d = X =
R N - ENEL J
vl ) =Py Y = a F
bEPY < | . N
4 H @ = t | = @] =
| @ = T = >
M) Ll
4 * n
O [ ] N e
N
|
5 o®
[= =5
Ld &
m [
= o
3 <] @ i
<
&)
[ ||
-
2
E2
2 S
80 85 90 95 100 105 110 115 120 125 130 135 140 145 150 155 160 165 170 175 180 185 190 195 200 205 210 215
<< Azimuth >>
L.A (34N, 118W)
5
o
A @  J N
% < SREER~ L4
o ® 2
: : =% =5 : SieesideaRs:
5 < - o = 5 =
ZEmEDE  ANEREA = = e
X S NS
=HIOIR® X = = =
40 0 L‘ B o .
e e e R g e e B e e e e e e e e e e e e e e e e e e
O+ oo ;( D= = = % 5
]
35 = PN = | L I -
@ o %
= =
39 < ® 5 =
|
- i
=< c
25 %) =
@] =
|
20
FanY
A~
15
80 85 90 95 100 105 110 15 120 125 130 135 140 145 150 155 160 165 170 175 180 185 190 195 200 205 210 215

<< Azimuth >>
5




<< Elevation >>

<< Elevation >>

D

—Installing Method

Receivable satellites by b5cm (T55) : ©
KANSAS CITY (39N, 95W) Receivable satellites by 90cm (190) : O @
5
4 = PYNBL JHA® L ANA JHL JEk ] P
i = | ko o Te I
‘j N = ~ N
N < = e o0 21 fs o =
4 ® [, [ Z = A= 5 PN
A g O o A = = pN
@] = < L] [<q ar
wa |4 | @) pai < - S
3 IC A = . J
ud = 9 L 10)
sy = T
A= & C =N D)
P L] % N
3 o k o =
= |
[« 0% =
3 W h |
2 <« o =
L H d
4 o 3 =4
E @
rd fa%s
2 L <[
=
U]
<
L
! S
1
5
35 700 105 770 175 120 725 130 735 140 45 750 755 760 165 770 175 80 785 190 795 200 205 210 215 220 275 230
<< Azimuth >>
DENVER (4ON, 105W)
55
5 <
e >
e =
[ p=
45 ol [ @O @ e
EEBSEr JE SEnANhUEE<Eks g Paaan-
o e e e e
[0 & ] =
4 O] i “EESERS 4 @
’ k1| ) ot = @)} -
= | L} Ui p — = =i
in — l \al M
5 i Z
35 ® = . -
O = ) A
D g
3 D O
| I >
I [
[ | =
a O <
A= = l —|
25 = 9
%
= ] T
D) 5
2 100 105 110 15 120 125 130 135 140 145 150 155 160 165 170 175 180 185 190 195 200 205 210 215 220 225 230 235

<< Azimuth >>




<< Elevation >>

<< Elevation >>

—Installing Method

Receivable satellites by b5em (T55) : O
SEATTLE (48N, 122W) Receivable satellites by 90cm (190) : O @
44
5 & @ ®
@ =~ 5
— =
: ' _O’ MY
5 2 ® 2 o - = -
T & & O & | = 4l
u H < O = a = o
= % = =
= . d = v
2 5 o @ = 9 x
5 H &l o = B3
td | © > X O Y Y
=R Y g ©
) = ® SREaRs = 5
< 3
.
=
D |
1 o 5
O
— &l =
o M
! o
=
5
80 85 D) 95 100 105 110 115 120 125 130 135 140 145 150 155 160 165 170 175 180 185 190 195 200 205 210 215
<< Azimuth >>
DALLAS (32N, 97W)
I I I I I I I
EuE o o o e | g
: oo o ® 0 e
T = [ d N = 4
[ ] = v = ] A4
@ Ll | g | ] s K =) =] ’ o
Q14 M~ < = = ® =
“ RN - a1 p
‘ — |_|| Ll £y :: Y
d g = = n @
Q o] —
3 i = || &
4 %l S = =
= - %
=
Fany d = 5
35 C =)
‘g =
P
~~ M = tl
3 o =
d g
2 fal
=
IC.
[T
2
1
1
5
95 100 105 170 i 120 125 130 135 140 145 150 155 160 165 170 175 180 185 190 195 200 205 210 215 220 225 230

<< Azimuth >> 5




<< Elevation >>

@ << Elevation >>

—Installing Method

Receivable satellites by b5em (T155) : O
BOSTON (42N, 71W) Receivable satelites by 90cm (T90) : © @
=
5 o
. =
&
& ® L WY )
4 2 0 Py -
= ‘@
3 i || M
o ~® ®
~ d 2%
3 c S d
= H oy I [ M9 & A B
SRy L : aRE-
3 = ) A T IC =
b N (R et
< - = A < -
= < !.L I 3
= < o
& g
2 o
= @ N
(@ N4 =
= ol 5
2 > T
o x
1
=
|
1
145 150 155 160 165 170 175 180 185 190 195 200 205 210 215 220 225 230 235 240 245 250 255 260 265 270 275 280
<< Azimuth >>
WASHINGTON D.C (39N, 77W)
5
& L AWE 4
¢ 0 o L AT )
52! [
N N @ ®
Y = ‘ —
4 5 = ol 8! , AP
@) =t L
= 7 = e @ = 7
N - =
3 > 1 5 ~
b K< L m > I
< g 3 —|
= H 1o =
b & &g =
a = >
3 = = o=
T To ¥z
= ¥ =
> o b
2 = @) = & @
= Y 512
O = P!
2 = =
s
]
gl
1 =
[
1
135 140 145 150 155 160 165 170 175 180 185 190 195 200 205 210 215 220 225 230 235 240 245 250 255 260 285 270

<< Azimuth >>




— INSTALL KIT (FOR TOROIDAL 90) MEMO

NO DESCRIPTION Q'TY | REMARK || NO DESCRIPTION Q'TY | REMARK

C1 |POLE STAND 60 C6 [M8x25 HEX HEAD BOLT

C2 |BKT STAND L600 C7 |98 FLAT WASHER

C3 |SUPPORT L5253 C8|28 SPRING WASHER

C4 |BKT STAND 60 C9 M8 HEX HEAD NUT

Q> 00N

NG S I NG Y A RN

C5 |[M8+x90 HEX HEAD BOLT C 10| »8+38 EXPENDING MASONRY BOLT

GROUND TYPE

3

o

CI-

WALL TYPE

MODEL : WU60-3

Lo _osl _wof o ol s sl _ s 20 R
Dotted Line >§ 90

I
7JSCALE

S e vy S i Sie i) i Mwn e

Cut off the scale on the left
and opply it to installing TOROIDAL Ant.

[—]

H——




/7N

WAVE FR(@)NTIER

AMERICAN WAVEFRONTIER Corp.
100 Pacifica, Suite 260
Irvine, CA92618

TEL : 949—-341-0200
FAX : 949-341-0205
Website : www.multilnbdish.com

WAVEFRONTIER Co., Ltd.

Seyo B/D, 161-8, Samsung—Dong,
Kangnam—Gu, Seoul 135-881, Korea
TEL : 82—-2-516—-1600

FAX : 82—-2-516-1605

Website : www.wavefrontier.com

900P—-112—-A




